2021 Financial Assurance Estimate Form (with pre-plat construction)

revise to SF2125

 (With pre-plat construction)
 Updated: 11/16/2020

 PROJECT INFORMATION

 Meadowbrook Park
 9/30/2021
 PUDSP208

 Project Name
 Date
 PCD File No.

					Unit				(with Pre	-Plat C	Construction)
escription		Quantity	Units		Cost			Total	% Complete		Remaining
ECTION 1 - GRADING AND EROSION CO	ONTROL (Con	struction and Pe	rmanent Bl	MPs)							
* Earthwork	-										
less than 1,000; \$5,300 min			CY	\$	8.00	=	\$	-		\$	-
1,000-5,000; \$8,000 min			CY	\$	6.00	=	\$	-		\$	-
5,001-20,000; \$30,000 min			CY	\$	5.00	=	\$	-		\$	-
20,001-50,000; \$100,000 min		43,656	CY	\$	3.50	=	\$	152,796.00		\$	152,796.0
50,001-200,000; \$175,000 min			CY	\$	2.50	=	\$	-		\$	-
greater than 200,000; \$500,000 min			CY	\$	2.00	=	\$	-		\$	-
* Permanent Seeding (inc. noxious weed mgmnt.)		4	AC	\$	828.00	=	\$	3,312.00		\$	3,312.0
* Mulching		4	AC	\$	777.00	=	\$	3,108.00		\$	3,108.0
* Permanent Erosion Control Blanket		0	SY	\$	6.20	=	\$	-		\$	-
* Permanent Pond/BMP Construction		13,181	CY	\$	21.00	=	\$	276,801.00		\$	276,801.0
* Permanent Pond/BMP (provide engineer's estimate	e)	1	EA	\$ 2	25,000.00	=	\$	25,000.00		\$	25,000.0
* Permanent RG/BMP (provide engineer's estimate)		1	EA		10,000.00	=	\$	10,000.00		\$	10,000.0
Safety Fence		2,837	LF	\$	3.10	=	\$	8,794.70		\$	8,794.7
Temporary Erosion Control Blanket		6,434	SY	\$	3.10	=	\$	19,945.40		\$	19,945.4
Vehicle Tracking Control		1	EA	\$	2,453.00	=	\$	2,453.00		\$	2,453.0
Silt Fence		546	LF	\$	2.60	=	\$	1,419.60		\$	1,419.0
Temporary Seeding		4	AC	\$	650.00	=	\$	2,600.00		\$	2,600.
Temporary Mulch		4	AC	\$	777.00	=	\$	3,108.00		\$	3,108.
Erosion Bales		0	EA	\$	26.00		\$	5,100.00		\$	5,100.
Erosion Logs/Straw Waddle		0	LF	\$	5.20	=	\$			\$	
Rock Check Dams		33	EA	\$	518.00	_	\$	17,094.00		\$	17,094.
Inlet Protection		9	EA	\$	173.00		\$	1,557.00		\$	1,557.
		2		-			-				
Sediment Basin			EA	\$	1,824.00	=	\$	3,648.00		\$	3,648.
Concrete Washout Basin		1	EA	\$	932.00	=	\$	932.00		\$	932.
						=	\$	-		\$	-
[insert items not listed but part of construction plans]						=	\$	-		\$	-
	MA:	INTENANCE (35°	% of Consti	ructio	on BMPs)	=	\$	18,464.95		\$	18,464.9
Subject to defect warranty financial accurance. A minimum of 20	10/ aball be retained										
Subject to defect warranty financial assurance. A minimum of 20' il final acceptance (MAXIMUM OF 80% COMPLETE ALLOWED)	% shall be retained		Section	on 1	Subtotal	=	\$	551,033.65		\$	551,033.65
il final acceptance (MAXIMUM OF 80% COMPLETE ALLOWED)	% shall be retained		Section	on 1	Subtotal	=	\$	551,033.65		\$	551,033.6
il final acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) ECTION 2 - PUBLIC IMPROVEMENTS *	% shall be retained		Section	on 1	Subtotal	=	\$	551,033.65		\$	551,033.6
I final acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) ECTION 2 - PUBLIC IMPROVEMENTS * DADWAY IMPROVEMENTS	% shall be retained			on 1	Subtotal			, 			•
I final acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control	% shall be retained		LS			=	\$, -		\$	-
If final acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf)	% shall be retained		LS Tons	\$	29.00		\$	- -		\$	- -
CONSTRUCTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf)	% shall be retained		LS Tons CY	\$	29.00 52.00	=	\$ \$	- - - -		\$ \$ \$	- - -
ECTION 2 - PUBLIC IMPROVEMENTS * DADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick)	% shall be retained		LS Tons CY SY	\$ \$ \$	29.00 52.00 14.50	=	\$ \$ \$			\$ \$ \$	- - -
CONSTRUCTION 2 - PUBLIC IMPROVEMENTS * DADWAY IMPROVEMENTS CONSTRUCTION Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick)	% shall be retained		LS Tons CY SY	\$ \$ \$ \$	29.00 52.00 14.50 20.00	=	\$ \$ \$ \$	- - - - -		\$ \$ \$ \$	- - - - -
Ifinal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) COTION 2 - PUBLIC IMPROVEMENTS * DADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick)			LS Tons CY SY SY SY	\$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00	= =	\$ \$ \$ \$ \$			\$ \$ \$ \$ \$	- - - - -
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (15b/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf)	% shall be retained		LS Tons CY SY SY SY Tons	\$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00	= =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - -		\$ \$ \$ \$ \$ \$	- - - - - -
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Raised Median, Paved			LS Tons CY SY SY SY Tons	\$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30	= =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - -		\$ \$ \$ \$ \$ \$	- - - - - -
ECTION 2 - PUBLIC IMPROVEMENTS * DADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick)		4	LS Tons CY SY SY SY Tons	\$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00	= =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - -		\$ \$ \$ \$ \$ \$	- - - - - -
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Raised Median, Paved Regulatory Sign/Advisory Sign		4	LS Tons CY SY SY SY Tons	\$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30	= = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - -		\$ \$ \$ \$ \$ \$	- - - - - - 1,244.
Ifinal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) ECTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Raised Median, Paved		4	LS Tons CY SY SY SY Tons SF EA	\$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30	= = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - - 1,244.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (5" thick) Asphalt Pavement (6" thick)		4	LS Tons CY SY SY SY Tons SF EA EA	\$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00	= = = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - - 1,244.00		\$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
Ifinal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) COTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking			LS Tons CY SY SY SY Tons SF EA EA SF	\$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 91.00 8.30 311.00	= = = = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - - - 1,244.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
Ifinal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) COTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (4147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3			LS Tons CY SY SY SY Tons SF EA EA SF SF	\$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00	= = = = = = = = = = = = = = = = = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - - - 1,244.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244. 10,368.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 1			LS Tons CY SY SY SY Tons SF EA SF SF EA	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 24.00	= = = = = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.00 - 10,368.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244. 10,368.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Casphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical)			LS Tons CY SY SY SY Tons SF EA EA SF EA EA EA	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 24.00 25.00	= = = = = = = = = = = = = = = = = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	10,368.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244. 10,368.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Casphalt Pavement (6" thick) Casphalt Pavement (6" thick) Casphalt Pavement (147 lbs/cf) Casised Median, Paved Regulatory Sign/Advisory Sign Cuicle/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median)			LS Tons CY SY SY Tons SF EA EA SF EA LF LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 24.00 25.00 30.00	= = = = = = = = = = = = = = = = = = = =	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - 1,244.00 - - 10,368.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type 1 Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp)			LS Tons CY SY SY SY Tons SF EA EA LF LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 24.00 207.00 25.00 30.00 30.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.00 - - 10,368.00 - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244. 10,368.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (8" thick) Asphalt Pavement (8" thick) Asphalt Pavement (8" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk (common areas only)			LS Tons CY SY SY Tons SF EA EA LF LF LF SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 24.00 25.00 30.00 30.00 30.00 50.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.00 - 10,368.00 - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (4" thick) Asphalt Pavement (5" thick) Asphalt Pavement (6" thick)			LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 207.00 25.00 30.00 30.00 30.00 50.00 62.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.00 - - 1,244.00 - - 10,368.00 - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (8" thick) Asphalt Pavement (8" thick) Asphalt Pavement (8" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk (common areas only) 5" Sidewalk 6" Sidewalk			LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 24.00 25.00 30.00 30.00 30.00 50.00 62.00 75.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.00 - - 10,368.00 - - - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (8" thick) Asphalt Pavement (8" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk (common areas only) 5" Sidewalk 8" Sidewalk		432	LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 24.00 24.00 25.00 30.00 30.00 30.00 50.00 75.00 99.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - 1,244.00 - - 10,368.00 - - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244
CITON 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type 1 Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk (common areas only) 5" Sidewalk Pedestrian Ramp			LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY SY SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 14.00 24.00 25.00 30.00 30.00 50.00 62.00 99.00 1,190.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.00 - - 10,368.00 - - - - - - - - - - - - - - - - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk (common areas only) 5" Sidewalk 5" Sidewalk Pedestrian Ramp Cross Pan, local (8" thick, 6' wide to include return)	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF LF SY SY SY SF EA LF LF LF SY SY SY SY SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 24.00 207.00 25.00 30.00 30.00 50.00 62.00 75.00 99.00 1,190.00 63.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.00 - - - 10,368.00 - - - - - - - - - - - - 17,244.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (8" thick) Asphalt Pavement (8" thick) Asphalt Pavement (6" thick) Asphalt Pavement (155 lbs/cf) Asphalt Pavement (155 lb	_" thick	432	LS Tons CY SY SY Tons SF EA EA LF LF LF SY SY SY SY	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 91.00 8.30 311.00 14.00 24.00 207.00 25.00 30.00 30.00 50.00 62.00 75.00 99.00 1,190.00 95.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - 1,244.00 - - 10,368.00 - - - - - - - - - - - - - - - - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Asphalt Pavement Pa	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY SY LF EA LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 24.00 25.00 30.00 30.00 50.00 62.00 75.00 99.00 1,190.00 63.00 95.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) "Sidewalk (common areas only) 5" Sidewalk Pedestrian Ramp Cross Pan, local (8" thick, 6' wide to include return) Cross Pan, collector (9" thick, 8' wide to include return Curb Chase Guardrail Type 3 (W-Beam)	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 24.00 25.00 30.00 30.00 50.00 75.00 99.00 1,190.00 63.00 95.00 1,532.00 51.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulactory Sign/Advisory Sign Guide/Street Name Sign Expoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) "Sidewalk (common areas only) "Sidewalk Si Sidewalk Pedestrian Ramp Cross Pan, local (8" thick, 6' wide to include return) Curb Chase Guardrail Type 3 (W-Beam) Guardrail Type 7 (Concrete)	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 24.00 25.00 30.00 30.00 30.00 50.00 75.00 99.00 1,190.00 63.00 95.00 1,532.00 51.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulactory Sign/Advisory Sign Guide/Street Name Sign Expoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) "Sidewalk (common areas only) "Sidewalk Si Sidewalk Pedestrian Ramp Cross Pan, local (8" thick, 6' wide to include return) Curb Chase Guardrail Type 3 (W-Beam) Guardrail Type 7 (Concrete)	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 24.00 25.00 30.00 30.00 50.00 75.00 99.00 1,190.00 63.00 95.00 1,532.00 51.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244
CTION 2 - PUBLIC IMPROVEMENTS * ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type 1 Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk (common areas only) 5" Sidewalk B" Sidewalk Pedestrian Ramp Cross Pan, local (8" thick, 6' wide to include return) Cross Pan, collector (9" thick, 8' wide to include return Curb Chase Guardrail Type 3 (W-Beam) Guardrail Type 7 (Concrete) Guardrail Type 7 (Concrete)	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 24.00 25.00 30.00 30.00 30.00 50.00 75.00 99.00 1,190.00 63.00 95.00 1,532.00 51.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244.
Ifinal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) CTION 2 - PUBLIC IMPROVEMENTS ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (8" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk 6" Sidewalk 6" Sidewalk 8" Sidewalk Pedestrian Ramp Cross Pan, local (6" thick, 6' wide to include return) Cross Pan, collector (9" thick, 8' wide to include retur Curb Chase Guardrail Type 3 (W-Beam) Guardrail Type 7 (Concrete) Guardrail Tppe 7 (Concrete) Guardrail Impact Attenuator	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA SF SF EA LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 8.30 311.00 24.00 25.00 30.00 30.00 30.00 50.00 62.00 99.00 1,190.00 63.00 95.00 1,532.00 75.00 95.00 1,532.00 75.00 2,172.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - - - - - 1,244.00 - - - 10,368.00 - - - - - - - - - - - - - - - - - -		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244. 1,244. 10,368.
If inal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) CTTON 2 - PUBLIC IMPROVEMENTS ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (4" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (8" thick) Asphalt Pavement (4" thick) Asphalt Pavement (4" thick) Asphalt Pavement (147 lbs/cf) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median) Curb and Gutter, Type C (Ramp) 4" Sidewalk 6" Sidewalk 8" Sidewalk 8" Sidewalk 8" Sidewalk 8" Sidewalk 8" Sidewalk 9"	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA LF LF LF SY SY SY LF LF EA	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 24.00 207.00 25.00 30.00 30.00 50.00 62.00 75.00 99.00 1,190.00 63.00 95.00 1,532.00 51.00 75.00 2,172.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	551,033.6
Ifinal acceptance (MAXIMUM OF 80% COMPLETE ALLOWED) ECTION 2 - PUBLIC IMPROVEMENTS ADWAY IMPROVEMENTS Construction Traffic Control Aggregate Base Course (135 lbs/cf) Aggregate Base Course (135 lbs/cf) Asphalt Pavement (3" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Asphalt Pavement (6" thick) Raised Median, Paved Regulatory Sign/Advisory Sign Guide/Street Name Sign Epoxy Pavement Marking Thermoplastic Pavement Marking Barricade - Type 3 Delineator - Type I Curb and Gutter, Type A (6" Vertical) Curb and Gutter, Type B (Median)	_" thick	432	LS Tons CY SY SY SY Tons SF EA EA EA LF	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	29.00 52.00 14.50 20.00 30.00 91.00 24.00 207.00 25.00 30.00 30.00 50.00 62.00 75.00 99.00 1,190.00 95.00 1,532.00 51.00 75.00 2,172.00 3,1899.00 81.00		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1,244. 10,368. 10,368.

review 1 comment:Please include the cross pan at Spatium and Meadowbrook Review 2: unresolved

PROJECT INFORMATION									
Meadowbrook Park	9/30/2021	PUDSP208							
Project Name	Date	PCD File No.							

				Jnit				(with Pre-Plat Construction		
Description	Quantity	Units	C	ost			Total	% Complete	_	Remaining
					=	\$	-		\$	-
[insert items not listed but part of construction plans]					=	\$	-		\$	-
TORM DRAIN IMPROVEMENTS										
Concrete Box Culvert (M Standard), Size (W x H)		LF			=	\$	-		\$	-
18" Reinforced Concrete Pipe		LF	\$	65.00	=	\$	-		\$	-
24" Reinforced Concrete Pipe		LF	\$	78.00	=	\$	-		\$	-
30" Reinforced Concrete Pipe		LF	\$	97.00	=	\$	-		\$	-
36" Reinforced Concrete Pipe		LF	\$	120.00	=	\$	-		\$	-
42" Reinforced Concrete Pipe		LF	\$	160.00	=	\$	-		\$	-
48" Reinforced Concrete Pipe		LF	\$	195.00	=	\$	-		\$	-
54" Reinforced Concrete Pipe		LF		254.00	=	\$	_		\$	_
60" Reinforced Concrete Pipe		LF		298.00		\$			\$	_
		LF		344.00		\$			\$	_
66" Reinforced Concrete Pipe										
72" Reinforced Concrete Pipe		LF		393.00	=	\$	-		\$	-
18" Corrugated Steel Pipe		LF	\$	84.00	=	\$	-		\$	-
24" Corrugated Steel Pipe		LF	\$	96.00	=	\$	-		\$	-
30" Corrugated Steel Pipe		LF	\$	122.00	=	\$	-		\$	-
36" Corrugated Steel Pipe		LF	\$	147.00	=	\$	-		\$	-
42" Corrugated Steel Pipe		LF	\$	168.00	=	\$	-		\$	-
48" Corrugated Steel Pipe		LF	\$	178.00	=	\$	-		\$	-
54" Corrugated Steel Pipe		LF	\$	260.00	=	\$	-		\$	-
60" Corrugated Steel Pipe		LF	\$	280.00	=	\$	-		\$	-
66" Corrugated Steel Pipe		LF	\$	340.00	=	\$	-		\$	-
72" Corrugated Steel Pipe		LF		400.00	=	\$	_		\$	_
78" Corrugated Steel Pipe		LF		460.00		\$			\$	
84" Corrugated Steel Pipe		LF		550.00	=	\$	-		\$	
84 Corrugated Steel Pipe Flared End Section (FES) RCP Size = (unit cost = 6x pipe unit cost)		EA	Φ	530.00	=	\$	-		\$	-
Flared End Section (FES) CSP Size = (unit cost = 6x pipe unit cost)					=	\$	_		\$	_
, , , , , , , , , , , , , , , , , , , ,		EA								
End Treatment- Headwall		EA			=	\$	-		\$	-
End Treatment- Wingwall		EA			=	\$	-		\$	-
End Treatment - Cutoff Wall		EA			=	\$	-		\$	-
Curb Inlet (Type R) L=5', Depth < 5'		EA	_	,736.00	=	\$	-		\$	-
Curb Inlet (Type R) L=5', 5' ≤ Depth < 10'		EA	_	,440.00	=	\$	-		\$	-
Curb Inlet (Type R) L =5', 10' ≤ Depth < 15'		EA	\$ 8	,637.00	=	\$	-		\$	-
Curb Inlet (Type R) L =10', Depth < 5'		EA	\$ 7	,894.00	=	\$	-		\$	-
Curb Inlet (Type R) L =10', 5' ≤ Depth < 10'		EA	\$ 8	,136.00	=	\$	-		\$	-
Curb Inlet (Type R) L =10', 10' ≤ Depth < 15'		EA	_	,185.00	=	\$	-		\$	-
Curb Inlet (Type R) L =15',		EA		,265.00	=	\$	-		\$	-
Curb Inlet (Type R) L =15', 5' ≤ Depth < 10'		EA		,005.00		\$	-		\$	_
Curb Inlet (Type R) L =15', 10' ≤ Depth < 15'		EA	_	,003.00		\$			\$	
		EA	_			-				
Curb Inlet (Type R) L =20', Depth < 5'			_	,940.00	=	\$			\$	
Curb Inlet (Type R) L =20', 5' ≤ Depth < 10'		EA		,075.00	=	\$	-		\$	-
Grated Inlet (Type C), Depth < 5'		EA	_	,802.00	=	\$	-		\$	-
Grated Inlet (Type D), Depth < 5'		EA	_	,932.00	=	\$	-		\$	-
Storm Sewer Manhole, Box Base		EA	_	,034.00	=	\$	-		\$	-
Storm Sewer Manhole, Slab Base		EA	\$ 6	,619.00	=	\$	-		\$	-
Geotextile (Erosion Control)		SY	\$	6.20	=	\$	-		\$	-
Rip Rap, d50 size from 6" to 24"		Tons	\$	83.00	=	\$	-		\$	-
Rip Rap, Grouted		Tons	\$	98.00	=	\$	-		\$	-
Drainage Channel Construction, Size (W x H)		LF			=	\$	-		\$	-
Drainage Channel Lining, Concrete		CY	\$	590.00	=	\$	-		\$	_
Drainage Channel Lining, Rip Rap		CY		116.00		\$			\$	
Drainage Channel Lining, Rip Rap Drainage Channel Lining, Grass		AC					-		\$	
		AC	φ T	,520.00	=	\$				
Drainage Channel Lining, Other Stabilization					=	\$	-		\$	-
[insert items not listed but part of construction plans]					=	\$	-		\$	-
					=	1.76	_		1.35	_

construction cost table in the drainage report indicates that

Meadowbrook Parthere is 1092 ft of 18"
Project Name

RCP Povice PROJECT INFORMATION
9/30/2021
Date RCP. Revise

PUDSP208 PCD File No.

accordingly so th	nat -			Т	Unit				(with Pre-	-Plat	t Construction)	
		Quantity	Units		Cost			Total	% Complete		Remaining	
SECTION 3 - C they match	IPROVEM E	NTS (Private o	r District	and	NOT Mai	ntained b	y EP	C)**				
ROADWAY IMPROVEMENTS		`						,				
Aggregate Base Course (135 lbs/cf)		747	CY	\$	50.00	=	\$	37,350.00		\$	37,350.00	
Asphalt Pavement (4" thick)		4,481	SY	\$	19.00	=	\$	85,139.00		\$	85,139.00	
Regulatory Sign/Advisory Sign		32	EA	\$	300.00	=	\$	9,600.00		\$	9,600.00	
Guide/Street Name Sign		8	EA	\$	200.00	=	\$	1,600.00		\$	1,600.00	
Curb and Gutter, Type A (6" Vertical)		1,916	LF	\$	30.00	=	\$	57,480.00		\$	57,480.00	
Curb and Gutter, Type C (Ramp)		1,908	LF	\$	30.00		\$	57,249.00		\$	57,249.00	
5" Sidewalk		2,184	SY	\$	60.00		\$	131,040.00		\$	131,040.00	
Pedestrian Ramp		19	EA	\$	1,150.00		\$	21,850.00		\$	21,850.00	
Cross Pan, local (8" thick, 6' wide to include return)		144	LF	\$	61.00	=	\$	8,784.00		\$	8,784.00	
STORM DRAIN IMPROVEMENTS	(Except	ion: Permanent Pon	d/BMP shall	be it	emized unde	r Section 1)						
10" PVC		155	LF	\$	30.00	=	\$	4,650.00		\$	4,650.00	
18" Reinforced Concrete Pipe		939	LF	\$	65.00	=	\$	61,035.00		\$	61,035.00	
24" Reinforced Concrete Pipe		255	LF	\$	78.00	=	\$	19,890.00		\$	19,890.00	
30" Reinforced Concrete Pipe		729	LF	\$	97.00	=	\$	70,713.00		\$	70,713.00	
36" Reinforced Concrete Pipe		46	LF	\$	120.00	=	\$	5,520.00		\$	5,520.00	
Curb Inlet (Type R) L=5', Depth < 5'		5	EA	\$	5,542.00	=	\$	27,710.00		\$	27,710.00	
Curb Inlet (Type R) L=5', 5' ≤ Depth < 10'		2	EA	\$	7,188.00		\$	14,376.00		\$	14,376.00	
CDOT Type D Inlet		2	EA	\$	5,932.00		\$	11,864.00		\$	11,864.00	
CDOT Type C Inlet		1	EA	\$	4,802.00		\$	4,802.00		\$	4,802.00	
Modified Type C Inlet		1	EA	\$	10,000.00		\$	10,000.00		\$	10,000.00	
8" Area Drain		2	EA	\$	500.00		\$	1,000.00		\$	1,000.00	
4' Type II Manhole		8	EA	\$	6,619.00		\$	52,952.00		\$	52,952.00	
5' Type II Manhole		4	EA	_	12,034.00		\$	48,136.00		\$	48,136.00	
Maitenance Road Material (CDOT Class 6 Base)		36	CY	\$	85.00		\$	3,060.00		\$	3,060.00	
Rip Rap, Type L		130	Tons	\$	80.00		\$	10,400.00		\$	10,400.00	
WATER SYSTEM IMPROVEMENTS												
Water Main Pipe (PVC), Size 8"		1,854	LF	\$	66.00	=	\$	122,364.00		\$	122,364.00	
Water Main Pipe (Ductile Iron), Size 8"		0	LF	\$	78.00	=	\$	-		\$	-	
Gate Valves, 8"		38	EA	\$	1,923.00	=	\$	73,074.00		\$	73,074.00	
Fire Hydrant Assembly, w/ all valves		6	EA	\$	6,828.00	=	\$	40,968.00		\$	40,968.00	
Water Service Line Installation, inc. tap and valves		67	EA	\$	1,370.00	=	\$	91,790.00		\$	91,790.00	
Fire Cistern Installation, complete		0	EA			=	\$	-		\$	-	
Water Main Pipe (PVC), Size 12"		363	LF	\$	80.00	=	\$	29,040.00		\$	29,040.00	
[insert items not listed but part of construction plans]						=	\$	-		\$	-	
SANITARY SEWER IMPROVEMENTS												
Sewer Main Pipe (PVC), Size 8"		1,570	LF	\$	66.00	=	\$	103,620.00		\$	103,620.00	

PROJECT INFORMATION								
9/30/2021	PUDSP208							
Date	PCD File No.							
_	9/30/2021							

меаdowbro	OK Park			9/.	30/202	L			P	UDS	P208	
Project Name				D	ate			PCD File No.				
				_					5			
		0	1114		Unit			T-4-1	· .	Plat	Construction)	
escription		Quantity	Units	_	Cost		-	Total	% Complete	_	Remaining	
,	ewer Manhole, Depth < 15 feet ervice Line Installation, complete	10 67	EA EA	\$	4,540.0 1,451.0		\$ \$	45,400.00 97,217.00		\$ \$	45,400.0 97,217.0	
	ewer Lift Station, complete	0	EA	φ	1,451.	=	\$	97,217.00		\$	97,217.0	
Oarmary O	ewer Ein Station, complete	O .	LA				\$			\$		
[insert iten	ns not listed but part of construction plans]					=	\$	-		\$	-	
ANDSCAPI	NG IMPROVEMENTS	For subdivision spe	ecific condition	on of a	approval,	or PUD)						
Screen Wa	alls	1,230	LF	\$	95.0	00 =	\$	116,850.00		\$	116,850.	
1			EA			=	\$	-		\$	-	
__	Complete this based on PU	JD landsc	apē^pl	lan	١, ا	=	\$	-		\$	-	
	Add retaining walls, and oth	or foncin	d inclu	ıdi	na	=	\$	-		\$	-	
- Section 3 is r	not subject to defect warranty requirements	iei ieiicii	IY IEKUI	uui	Subto	=	\$			\$	-	
	Screening		Secu	on s	Subto	tal =	\$	1,476,523.00		<u> </u>	1,476,523.0	
S-BUILT P	ANS (Public Improvements inc. Permanent WQCV BN	IPs)	LS	\$	12,000.0	00 =	\$	12,000.00		\$	12,000.	
	CERTIFICATION (inc. elevations and volume calculation	•	LS				\$	5,000.00		\$	5,000.	
								Varranty Financia	_	\$	97,953.8	
			(20% of all it	tems i	identified	as (*). To be	collaterali	zed at time of prelimina	ary acceptance)			
Approvals	ify that this is an accurate and complete estimate of costs	for the work as sho	own on the G	Gradin	ng and Fr	osion Control	Plan and	Construction Drawings	associated with t	he Pı	roject	
	· , · · · · · · · · · · · · · · · · · ·				.5						-,	
Engineer	(P.E. Seal Required)											
Approved	by Owner / Applicant			Da	ate							
A	hu Fl Dan County Fraince / FCM Administra				-4-							
Approved	by El Paso County Engineer / ECM Administrator			Da	ate							